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FAM HEMSD
M aMMQ RY
Sl 442 RSB JIBRE CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o &4t 23,198,729 25,265,477 A 2,066,748
= 7,165,621
s 5,282,000
= 10,751,108
oMY B Y 23,153,189 25,225,907 A2,072,718
= 7,165,621
s 5,282,000
< 10,705,568
M2 FSIHE IS 7,281,869 13,925,773 A6,643,904
= 1,825,019
< 5,456,850
HYHZETHXA 28,494 25,993 2,501
= 21,919
< 6,575
308 XtXIEHH SOl A 28,494 25,993 2,501
= 21,919
< 6,575
01 X HHILEES 28,494 25,993 2,501
Odgg ZZM XA 28,494,000 28,494
= 21,919
= 6,575
SEHE O A 26,000 96,200 AT70,200
= 20,000
< 6,000
308 A EHHSOIA 26,000 96,200 A70,200
= 20,000
< 6,000
01 HXNHHNBHNEELS 26,000 96,200 AT70,200
OgdEHE T M 26,000,000 26,000
= 20,000
< 6,000
HLF MAAL TS3 10,530 12,480 A 1,950
= 8,100
< 2,430
403 MtXISHHE X201 & 10,530 12,480 A1,950
= 8,100
= 2,430
01 XM A=2EER 10,530 12,480 A 1,950
OdLE MAANL As3t 10,530
= 8,100
< 2,430
SUNERSANLEAHS (MEAY) 906,360 1,014,000 A 107,640
403 A X EHHS =0l A 906,360 1,014,000 A 107,640
01 XXM 22 = 906,360 1,014,000 A 107,640
O==&HAIE AIEH A 906, 360, 000 906,360
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EA: HEAS D
M aMMQ RY
Sl 442 RSB JIBRE CERED
(o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
EASATINZSAILEHE (HEAY) 2,028,000 1,542,000 486,000
403 XX SHS K20 & 2,028,000 1,542,000 486,000
01 XIS AS2E X 2,028,000 1,542,000 486,000
O=NE2 MRIEANE X 2,028,000,000 2,028,000
2=AS HEIMEBAY XN (HSAY) 713,400 649,500 63,900
403 XX SHHS K20 & 713,400 649,500 63,900
01 XIS AE2E X 713,400 649,500 63,900
=ME Ml MEAA 713,400,000 713,400
SMEIINESREAEXE 590,080 209,800 380,280
403 XX SRS K20 & 590,080 209,800 380,280
01 XIS A 2E X 590,080 209,800 380,280
OOtEZ JIZ28USAE N 57,000,000 57,000
OFNMEINZESEMED XN(EE)
17,280,000 17,280
O#4HAE 3R |SEIIY N
45,000,000 45,000
Oxz=22 WsdED AMd & 180,000,000 180,000
OXNEEA HEX| AMHss AED XA
100,000,000 100,000
O4 SRS U 2LH NN
190,800,000 190,800
=ME AHISE XY L HAAE JNA 659,005 143,000 516,005
308 XHXIEHSO|A 659,005 143,000 516,005
01 AIKSHHEMNEX= 161,020 73,000 88,020
O %4t AHIEX 10,000,000 10,000
OOE2dIIs ss&oF Z&M XN&
36,000,000 36,000
OLMAZE A K& 115,020,000 115,020
112 2SUHUSHEAEAE AT Y| 497,985 70,000 427,985
O JIXl & AHIEA HD 153,985,000 153,985
OLMAE o= 235 2 GHAAE I
344,000,000 344,000
NAH HH =82 =5 150,000 38,000 112,000
s 0HAE MY
= 75,000
= 75,000
308 AHXIEHSOIA 150,000 38,000 112,000
= 75,000
= 75,000
11 BI2SUHUSHEAEAE AT Y| 150,000 38,000 112,000
OXNXH™ A =82 =52 SS0HAHE
150,000,000 150,000
= 75,000




FAM HEMSD
M aMMQ RY
Sl 442 RSB JIBRE CERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| < 75,000
=MAE JIES4d X&E 1,040,000 0 1,040,000
= 800,000
< 240,000
403 Mt SHHSA=0l& 1,040,000 0 1,040,000
= 800,000
< 240,000
01 HIXSHMA2E X 1,040,000 0 1,040,000
Ox=8AE Jt=4Hl & 1,040,000, 000 1,040,000
= 800,000
< 240,000
OtEd JtE SZUUX E2A48 XA 1,062,000 944,000 118,000
= 900,000
< 162,000
403 X SHHE A0l & 1,062,000 944,000 118,000
= 900,000
< 162,000
01 XM A=2E X 1,062,000 944,000 118,000
OOtEZ ItE8 AS30UXN E=2AE X&
1,062,000, 000 1,062,000
= 900,000
< 162,000
=g 5 =HtE g2 68,000 69,500 A 1,500
201 L4l 68,000 69,500 A 1,500
01 At 22l 68,000 69,500 A 1,500
Osd 98 42 82 ¢ 21 60,000,000 60,000
Osd =4alsE 2= MA 8,000,000 8,000
oMY & e 4,724,449 2,980,376 1,744,073
= 1,916,058
< 2,808,391
OEAE LTS 25t 90,000 90,000 0
403 A X EHHSH20IA 90,000 90,000 0
01 X ESHHMA=LE L 90,000 90,000 0
OEATLYZHSZAG 2FHENH X
90,000, 000 90,000
SHFEE sog=g X2 1,600,000 0 1,600,000
308 XX EHH SOl A 1,600,000 0 1,600,000
01 X HHIBLEXS 1,600,000 0 1,600,000
OS3YE sHU=g () XA
1,600,000, 000 1,600,000
AR FIOHY ¥ EY 9,888 6,556 3,332
201 Let24E] 5,360 1,539 3,821
01 At 22l 8l 5,360 1,539 3,821




EA: HEAS D
M aMMQ RY
SRl AMNYSE o e CERED
5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OBELAS=HOARARE 29 4,000,000 4,000
O#4e FHYL S8 N2 S 29
1,360,000 1,360
202 044 1,963 2,309 A\ 346
01 2L Y| 1,963 2,309 A\ 346
SAUMALZ U SMAZAYET
1,963,000 1,963
203 €2 F&d| 2,565 2,708 A 143
03 AIZH =& 2 F XY 2,565 2,708 A 143
OEAY HRFA 2,565,000 2,565
HFUWHEZEIA 200,976 181,070 19,906
= 178,080
o= 22,896
308 AMXISHMSOIA 200,976 181,070 19,906
= 178,080
=} 22,896
01 AIXSHMENMNEXZ 200,976 181,070 19,906
OFEH=ZHZRS (M) 200,976,000 200,976
= 178,080
= 22,896
HE=E=E AN (2Y) 10,560 6,580 3,980
= 5,280
& 5,280
201 LBt ]| 3,168 2,000 1,168
= 1,584
= 1,584
01 AP 22| H| 3,168 2,000 1,168
OFENEHAN2(2Y) 3,168,000 3,168
= 1,584
=} 1,584
202 044 7,392 4,580 2,812
= 3,696
= 3,696
01 2L bl 7,392 4,580 2,812
OFEN=HNK(2Y) 7,392,000 7,392
= 3,696
o=t 3,696
ol o HHEXK S HEH 1,600,000 1,500,000 100,000
= 800,000
= 800,000
308 AHXIEHSOIA 1,600,000 1,500,000 100,000
= 800,000
= 800,000
1122 SUHUSHEAEAE A Y| 1,600,000 1,500,000 100,000




2N
X ZH -
L= B

el

VESG
SN SH
SUMRTY L KL

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O =4t FHERKHHEH 1,600,000, 000 1,600,000
= 800,000
< 800,000
SN HESINH ALY 400,000 305,000 95,000
= 200,000
= 200,000
308 XXM SOIA 400,000 305,000 95,000
= 200,000
< 200,000
M3 2S0HetE & XA EA I 400,000 305,000 95,000
OZANYUHERIXE 400,000, 000 400,000
= 200,000
< 200,000
A NE =LA EH 734,681 853,170 A 118,489
= 683,424
< 51,257
308 XX EHHSOIA 734,681 853,170 A 118,489
= 683,424
< 51,257
01 HXNHHBHELS 734,681 853,170 A 118,489
OXdENG =L EERN 734,681,000 734,681
= 683,424
< 51,257
HAAEXZEEH X 29,070 38,000 A 8,930
308 XX EHHSOIA 29,070 38,000 A 8,930
01 HIXNHHBNEES 29,070 38,000 A 8,930
OAlZ AHFHEXNJALE K& 29,070,000 29,070
P42 BHEAME HEM X 49,274 0 49,274
2 49,274
308 XXM SOIA 49,274 0 49,274
2 49,274
01 AXHHIYEES 49,274 0 49,274
Ol =4z HgAMz HEM K&
49,274,000 49,274
2 49,274
ZEhg ¢ =4 6,754,378 5,704,006 1,050,372
= 381,219
as 5,282,000
< 1,091,159
HESESXNJHEH X2 500,000 500,000 0
= 250,000
< 250,000
308 XXM SO A 500,000 500,000 0
= 250,000
= 250,000
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FAM HEMSD
HE: LAY BA
S HENE 2 84 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
113/ 2SoHUHSZ&EAEALS I 500,000 500,000 0
ONHESS A2 EEHX & 500,000, 000 500,000
= 250,000
< 250,000
HENEFL0S MREHEXA 131,219 118,470 12,749
= 131,219
308 XXM SOIA 131,219 118,470 12,749
= 131,219
01 AXHHILEES 131,219 118,470 12,749
OEMENES MREUHEXE 131,219,000 131,219
= 131,219
HASHANEIN L 5,803,114 4,411,586 1,391,528
s 5,142,000
< 661,114
403 A X EHHS 20l A 5,803,114 4,411,586 1,391,528
s 5,142,000
< 661,114
01 X EHHMAZLE L 5,803,114 4,411,586 1,391,528
OdAACte HEIRY 5,803, 114,000 5,803,114
as 5,142,000
< 661,114
A ek2st 158,000 197,500 A 39,500
s 140,000
< 18,000
308 XX EHHSOIA 158,000 197,500 A 39,500
s 140,000
= 18,000
01 HIXNHHNBNEES 158,000 197,500 A 39,500
OXS Aot 158,000, 000 158,000
s 140,000
< 18,000
HEAN SSs=YE =4 162,045 153,000 9,045
403 MHXISHHE X201 E 162,045 153,000 9,045
01 X SHHA2E = 162,045 153,000 9,045
OEN SsHgE =4 117,045,000 117,045
OWEZSH ¢H =4 45,000,000 45,000
AN g 2 s4 120,000 95,912 24,088
SAIE SZEINA(HBAIY) 120,000 80,000 40,000
403 X SHHSA=0l& 120,000 80,000 40,000
01 HXSHMA2E X 120,000 80,000 40,000
OSAIE &3 120,000, 000 120,000
H==Saty sS4 4,272,493 2,519,840 1,752,653
= 3,043,325




FAM HEMSD
HE: LAY BA
oSl LApiaY 4 (S5 &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
== 1,229,168
W= J|BtE 4 918,240 731,520 186,720
308 XX EHSOIA 187,440 374,200 A 186,760
01 AXSHHBLEES 187,440 374,200 A 186,760
OW=H MEfH e, SiHS X
148,200,000 148,200
OU=2 LS & 18,720,000 18,720
O=& =2&st 20,520,000 20,520
403 A X EHHSH20IA 730,800 357,320 373,480
01 XM A= E L 730,800 357,320 373,480
OW==8 2AIZ JIBHAIA 147,600,000 147,600
OU=g 243 & 61,200,000 61,200
OU=8 == RS 84,000,000 84,000
Oou=g & &3 14,400,000 14,400
Ou=8 =0 57,600,000 57,600
O=gtlls 2&n 126,000, 000 126,000
OXNEEs HESS 240,000, 000 240,000
LHEUWE W 2,235,503 1,625,820 609,683
= 1,980,825
< 254,678
403 A X EHHSH20IA 2,235,503 1,625,820 609,683
2 1,980,825
< 254,678
01 X EHHMA=2E L 2,235,503 1,625,820 609,683
OUEHE(20t2) M 2,235,503, 000 2,235,503
= 1,980,825
< 254,678
=8 AT =4 875,000 0 875,000
= 875,000
403 tXISHH S =0l & 875,000 0 875,000
= 875,000
01 AXSHMA=2E X 875,000 0 875,000
OU=g A < 875,000,000 875,000
= 875,000
HE IHE= 243,750 162,500 81,250
= 187,500
< 56,250
403 XIS E X201 & 243,750 162,500 81,250
= 187,500
< 56,250
01 XXM 22 = 243,750 162,500 81,250
OdE HE= 243,750,000 243,750
= 187,500
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